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 : آزمون نکات مهم

  شود.علامت زده  پاسخنامهها باید در کلیه پاسخ (1

 شود. یعلامت گذار حیصحمربوط مطابق نمونه  یضیدر ب نرم و پررنگ یمداد مشکبا  دیالات باؤپاسخ س( 2

 مشخصات خواسته شده را درج و امضا نمایید. کلیهذیل پاسخنامه،  دفترچه سؤالات و لطفا در (3

 نمره منفی ندارد.آزمون این  (4

 می باشد. دقیقه 120آزمون  زمان (5

   13/1نمره مساوی دارند )هر سوال  بخشهای شنیداری، گرامر، واژگان و درك مطلب همه سوالات به اضافه بخش نوشتاری می باشد.   سوال 80تعداد سوالات  (6

 نمره دارد.  100نمره از  10بخش نوشتاری . دارد( 100 نمره از    

 80×13/1=90 +10 =100    : محاسبه می شود 100از ( نمره کلی آزمون 7

 سوال( و نوشتار )یك موضوع انتخابی از دو موضوع داده 52سوال( و درك مطلب ) 15سوال(، واژگان ) 25سوال(، گرامر ) 15شنیداری ) سوالات( آزمون شامل 8

 دقیقه در باره موضوع داده شده نوشته شود.  20کلمه در مدت  150برای بخش نوشتار، باید حدود می باشد. ( هشد    

 برگ پاسخنامه بخش نوشتاری نیز داده  یكو  سخنامه برای سوالات چهارگزینه ایدارد. یك برگ پا صفحه 13 ،احتساب صفحه حاضر با  سؤالات،دفترچه  (9

 از پشت صفحه دفترچه  صورت نیاز می توانید از صفحه پشت پاسخنامه نوشتاری استفاده کنید. در ولی  سخنامه اضافی نوشتاری تحویل نخواهد شدپا  خواهد شد.   

 سوالات نیز می توانید به عنوان پیش نویس استفاده کنید.     

 . اعلام خواهد شد ulc.ui.ac.irآموزی به نشانی  در سایت مرکز زبان بعد از برگزاری آزمون، ساعت  24 تا نمرات به صورت کارنامه (10

  فرمایید.ارسال   ulc.ui.ac.ir@gmail.comنشانی  هایمیل رسمی مرکز زبان آموزی ب بهاحتمالی را می توانید  در خصوص آزمون و یا تذکر اشکال نظر هرگونه (11

 خود ببرید.همراه  هبرا سؤالات ه می توانید دفترچپس از تحویل پاسخنامه،  ،، در این نوبت آزمونسؤالنمونه به عنوان  (21

     ه، در کنار سوالات بلافاصله پس از آزمون در سایت مرکز زبان آموزی قرار می گیرد. اگر در هنگام آزمون، پاسخ هر سوال را علاوه بر درج در پاسخنام کلید اولیه( 13

 آزمون می توانید نمره خود را محاسبه نمایید و نیز اشکالات خود را ملاحظه نمایید.  هر سوال هم بگذارید، پس از      

  داریم. آرزوی موفقیت ،زمونشما داوطلبین گرامی شرکت در این آ برای (41
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Part A: Listening 
 

 

 

 

 Listen and mark your answers to questions 1-15 in the answer sheet. The audio will 

be played only once. 

 

 

 

به فایل صوتی با دقت گوش دهید و پاسخ سؤالات 1 تا 15 را در پاسخنامه علامت بزنید. فایل صوتی تنها یک بار 

 پخش خواهد شد.

.4-Section A: questions 1 

1) What does the man imply? 

a) The doctor was too busy to see him.  c) He doesn't need to see the doctor. 

b) The woman should use the ointment.  d) His skin condition has gotten worse. 

 

2) What will the woman probably do? 

a) Accept the man's offer.    c) Walk home. 

b) Give the man a ride.    d) Go for a walk with the man. 

 

3( What does the woman mean? 

a) The man is mistaken.    c) The error will be corrected. 

b) She didn't know about the problem.  d) Grades were sent late. 

 

4) On what nights is the store open late? 

a) Thursdays and Fridays.    c) Tuesdays and Fridays. 

b) Wednesdays and Thursdays.   d) Tuesdays, Thursdays, and Fridays. 

 

 

Section B: questions 5-9. 

5) What does the woman need? 

a) A meeting with Professor Simpson  c) An English composition class 

b) An appointment for tutoring   d) Information about the Learning Center 
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6) Why does the woman say this “Oh, but would that be extra?” in this excerpt: “Oh, but 

would that be extra? You know, would I need to pay for the extra session?” 

a) She is worried that she cannot afford the service.  

b) She is trying to negotiate the cost of the sessions. 

c)  She is showing particular interest in math. 

d) She is expressing surprise about the arrangement. 

 

7) Why is the man concerned about the woman's attendance? 

a) If she is absent, her grade will be lowered. 

b) He will not get a paycheck if she is absent. 

c) She has been sick a lot during the semester. 

d) Her grades need to be improved. 

 

8) What does the man agree to do? 

a) He will show the woman how to use the library. 

b) He will write some compositions for the woman. 

c) He will talk with the woman's English professor. 

d) He will show the woman how to improve her writing. 

 

9) What does the man imply about the woman's teacher? 

a) The professor is very difficult to understand. 

b) He does not know where she came from 

c) Her students seem to like her teaching style. 

d) He is familiar with her requirements. 

 

Section C: questions 10-15. 

10) What is this lecture mainly about? 

a) An efficient solution to problem of storing solar energy  

b) Energy policies in the twentieth century   

c) Reasons that solar energy is not more widely used the  

d) The superiority of solar energy to oil and natural gas 
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11) What is one of the main problems solar power presents as an energy source?  

a) It is a potentially dangerous source   c) It is difficult to concentrate  

b) It is scientifically unsound     d) It doesn’t have to be stored 

 

12) According to the professor what led to the popularity of solar energy in the 1970s?  

a) New solar energy technologies  

b) Advertising campaigns by solar energy companies  

c) An increase in the price of oil and natural gas  

d) The depletion of Earth’s reserves of oil and natural gas 

 

13) What is the difference between passive and active heating systems? 

a) Passive systems are less reliable  

b) Passive systems are difficult to install  

c) Passive systems can be used at any location  

d) Passive systems work without mechanical support  

 

14) What is the professor's opinion about the future of the Kramer Junction power 

plant?  

a) He's uncertain about the future of Kramer Junction plant  

b) He believes the Kramer Junction plants will become a major source of power  

c) He is certain the Kramer Junction plant will not be able to increase its capacity  

d) He thinks the Kramer Junction plant will have many competitors 

 

15) In this excerpt “How can solar energy work at night or on cloudy days? That is a 

really good question. As a matter of fact, science is still working on it.”, what does the 

professor mean when he says “That is a really good question.”? 

a) He thinks the student should know the answer to the question 

b) He thinks the student has raised an important issue  

c) He wants the students to repeat his question  

d) He will answer the question later in the lecture  
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Part B: Grammar 
 

 صحیحتشخیص گزینه 

 

 

 

 

Section 1. Read each test item carefully and answer the questions by choosing the 

answer (a), (b), (c) or (d). Then mark the correct choice on your answer sheet. 

 

 

 

 

16) Paul …………..talking at the same time that the teacher is giving instructions. 

a) shouldn't   b) shouldn't be  c) shouldn't be to d) should not to 

 

17) Ali could not come to the telephone when his father called him because he 

…………the dishes in the kitchen. 

a) had been washing    b) has been washing   c) was washing d) washed    

18) Mr. Ahmadi …………..to work by his friend every day. 

a) is driven  b) drives  c) has driven  d) will drive  

  

 

19) The candidates had ……… opportunity to pass. 

a) many  b) little   c) a few  d) few 

 

20) The animal is sick. It ……………..anything since Monday. 

a) did not eat  b) does not eat  c) had not eaten d) has not eaten 

 

21) She appears to be an………..typist. 

a) extreme rapid b) extreme rapidly c) extremely rapidly d) extremely rapid 

 

22) He's the one …………, I believe, is interested in English. 

a) who   b) whom  c) which  d) whose   

 

23) Not surprisingly, eye messages……………with both culture and gender. 

a) varies  b) vary   c) varying  d) to vary 

 

24) If people take care of their health, they ………………to be 100 years old. 

a) would live  b) have to live  c) be living  d) can live 
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 غلطتشخیص گزینه 

 

25) We can eat ………….eggs for breakfast. 

a) boiled  b) boiling  c) to boil  d) is boiled 

 

26) Nylon, a synthetic …………from a combination of water, air, and a by-product of 

 coal was introduced in 1938. 

a) done   b) is done  c) made  d) is made 

 

27) In the early twentieth century, there was considerable………… among people in 

traditions and customs. 

a) interesting     b) interest  c) interestingly  d) interested  

 

28)  Of the ……………factors that contribute to the growth of tourism, one of the most 

important is safety. 

a) many  b) much  c) a lot    d) lot 

 

 

Section 2.  Choose the underlined words or phrases that need to be corrected. Mark 

the answers on your answer sheet. 

 

 

 

 

29) Consider all of the possibilities, I really believe that I would prefer not to make any  

 a           b            c              d 

changes.  

30) My friend indicated to me that he will get the job in spite of his inexperience.  

            a           b              c      d 

31) Educator Helen Magill White was the first American woman to have earn the 

 a                     b                c                                                     

Ph.D. degree. 

               d 

32) The changes that occur in the life cycle of a butterfly or moth are probable the 

       a                b         c    

most striking examples of metamorphosis. 

                             d 
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33) Much theories have been developed concerning how people learn about   

          a                b          c    

cultures from the myths and legends passed down from one generation to   

 another.  

              d 

34) Several comet are discovered each year, but very few of them are bright 

           a                    b               c   

enough to be seen without the aid or magnification. 

                              d 

35) Charles Monroe Schulz's comic strip "Peanuts" is translated into 26 languages 

            a                       b    

also has appeared in over 2,300 daily newspapers. 

     c             d 

36) In human beings, the liver is the biggest glandular organ of his digestive system. 

                                                 a       b                             c  d 

37) Many scientists contributed to the development of television, whether no one 

          a          b                   c            d 

person can be said to have invented it. 

38) Northern Canada contains vast areas treeless of low vegetation known as tundra. 

                               a          b         c                  d 

39) Gordon Parks composed, wrote, and directed Martin, the classical ballet who 

                       a                                b   c 

   

examines the meaning of the life of Martin Luther King. Jr. 

                            d 

40) In 1965, Rodolfo Gonzales has estab1ished an organization called the Crusade 

         a                  b                 c    

For Justice in Denver, Colorado. 

                            D 
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Part C: Vocabulary 
 

 

 

 

 

Read each test item carefully and answer the questions by choosing the answer (a), 

(b), (c) or (d). Then mark the correct choice on your answer sheet. 

 

            

    Vocabulary Part 1: Gap-Filling 

 

 

41. We've had to ---------------- going to France because the children are ill. 

a) participate  b) postpone  c) vary    d) confine 

 

42. The student felt ---------------- about being late in front of the class. 

a) inaccessible  b) aggressive  c) embarrassed  d) extensive 

 

43. The new school has a special ---------------- on mathematics and science. 

a) credit  b) contrast  c) focus   d) rage 

 

44. The hotel offers a wide ---------------- of services to its guests. 

a) range  b) victim  c) rate    d) status 

 

45. People who are following ---------------- behave appropriately in most countries. 

a) sanctions  b) thefts  c) disapprovals  d) norms 

  

46. You might get on better with your parents if you stop being rude and show them 

some ----------------. 

a) courtesy  b) reputation  c) violation   d) immediacy 

 

47. He was sent to prison for a crime that he didn't ----------------. 

a) charge  b) convict  c) arrest   d) commit 

 

 

 

Vocabulary Part 2: Synonym 

 

 

48) They say that the complexity of the information makes us smarter, not more stupid. 

a) dumb  b) visible  c) relevant   d) reliant 

 

49)  When they purchased the company, they had to assume its debts. 

a) accept   b) reject  c) contribute   d) reinforce  

 

 

50)  This watch may be a counterfeit, but it looks just like the original. 

a) fake   b) vulnerable   c) fraud   d) assertive 

 

51) Some women make a deliberate choice to rear a child alone. 

a) end up in  b) engage in  c) suffer from   d) take care of 

 

52) She embezzled thousands of dollars from the charity. 

a) stole   b) confirmed  c) assisted   d) confined 

    

http://dictionary.cambridge.org/dictionary/british/children
http://dictionary.cambridge.org/dictionary/british/ill_1
http://dictionary.cambridge.org/dictionary/british/felt
http://dictionary.cambridge.org/dictionary/british/front_1
http://dictionary.cambridge.org/dictionary/british/better
http://dictionary.cambridge.org/dictionary/british/your
http://dictionary.cambridge.org/dictionary/british/parent
http://dictionary.cambridge.org/dictionary/british/sent
http://dictionary.cambridge.org/dictionary/british/prison
http://dictionary.cambridge.org/dictionary/british/crime
http://dictionary.cambridge.org/dictionary/british/watch
http://dictionary.cambridge.org/dictionary/british/look
http://dictionary.cambridge.org/dictionary/british/original
http://dictionary.cambridge.org/dictionary/british/deliberate
http://dictionary.cambridge.org/dictionary/british/choice
http://dictionary.cambridge.org/dictionary/british/child
http://dictionary.cambridge.org/dictionary/british/alone
http://dictionary.cambridge.org/dictionary/british/dollar
http://dictionary.cambridge.org/dictionary/british/charity
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Part D: Reading Comprehension 
 

53) We tried to halt he army but the project failed.  

a) stop   b) admire  c) persuade   d) bribe  

 

54) She tried to run, but was hampered by the heavy suitcase.  

a) prevented  b) encouraged  c) inferred    d) diagnosed  

 

55) They established a school for mentally handicapped children.  

a) disable  b) random  c) lost    d) without parents 

 

 

 

 

 

 

 

 

Read the texts carefully and choose the best answer to the questions that follow. 

 

 

Reading 1  

As many as a thousand years ago in the Southwest, the Hopi and Zuni Indians of North 

America were building with adobe—sun-baked brick plastered with mud. Their homes 

looked remarkably like modern apartment houses. Some were four stories high and contained 

quarters for perhaps a thousand people, along with storerooms for grain and other goods. 

These buildings were usually put up against cliffs, both to make construction easier and for 

defense against enemies. They were really villages in themselves, as later Spanish explorers 

must have realized, since they called them pueblos, which is Spanish for towns. 

 

The people of the pueblos raised what are called the three sisters—corn, beans, and 

squash. They made excellent pottery and wove marvelous baskets, some so fine that they 

could hold water. The Southwest has always been a dry country where water is scarce. The 

Hopi and Zuni brought water from streams to their fields and gardens through irrigation 

ditches. Water was so important that it played a major role in their religion. 

 

The way of life of less-settled groups was simpler. Small tribes such as the Shoshone and 

Ute wandered the dry and mountainous lands between the Rocky Mountains and the Pacific 

Ocean. They gathered seeds and hunted small animals such as rabbits and snakes. In the Far 

North the ancestors of today’s Inuit hunted seals, walruses, and the great whales. They lived 

right on the frozen seas in shelters called igloos built of blocks of packed snow. When 

summer came, they fished for salmon and hunted the lordly caribou. 
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The Cheyenne, Pawnee, and Sioux tribes, known as the Plains Indians, lived on the 

grasslands between the Rocky Mountains and the Mississippi River. They hunted bison, 

commonly called the buffalo. Its meat was the chief food of these tribes, and its hide was 

used to make their clothing and the covering of their tents and tepees. 

 

56) What does the passage mainly discuss? 

a) The architecture of early American Indian buildings 

b) The movement of American Indians across North America 

c) Ceremonies and rituals of American Indians 

d) The way of life of American Indian tribes in early North America 

 

57) According to the passage, the Hopi and Zuni typically built their homes 

a) in valleys                      b) next to streams               c) on open plains                 d) against cliffs 

 

58) The word “They” in line 6 refers to …………………… . 

a) goods                           b) buildings                         c) cliffs                                  d) enemies 

 

59) It can be inferred from the passage that the dwellings of the Hopi and Zuni were 

a) very small  b) highly advanced c) difficult to defend d) quickly constructed 

 

60) The author uses the phrase “the three sisters” in line 8 to refer to ……………… . 

a) Hopi women b) family members c) important crops d) rain ceremonies 

 

61) The word “scarce” in line 10 is closest in meaning to ……………….. . 

a) limited                                  b) hidden                           c) pure                               d) necessary 

 

62) Which of the following is true of the Shoshone and Ute? 

a) They were not as settled as the Hopi and Zuni. c) They hunted caribou. 

b) They built their homes with adobe. d) They did not have many religious ceremonies. 

 

63) According to the passage, which of the following groups lived in the grasslands? 

a) The Shoshone and Ute    c) The Cheyenne and Sioux 

b) The Hopi and Zuni     d) The Pawnee and Inuit 

 

64) Which of the following animals was most important to the Plains Indians? 

a) The salmon                             b) The caribou                       c) The seal              d) The bison 

 

65) Which of the following is NOT mentioned by the author as a dwelling place of early 

North Americans? 

a) Log cabins                                b) Adobe houses                   c) Tepees                d) Igloos 
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66) The author groups North American Indians according to their ……………….. . 

a) names and geographical regions   c) arts and crafts 

b) rituals and ceremonies    d) date of appearance on the continent 

 

67) The word “excellent” in line 9 is closet in meaning to ………………….. .  

a) fantastic                                   b) awful                           c) bitter                     d) terrible 

 

68) The word “they” in line 15 refers to ………………………… . 

a) Rocky Mountains                   b) the Pacific                    c) the Zuni                d) small tribes 

 

 

Reading 2 

If the salinity of ocean waters is analyzed, it is found to vary only slightly from 

place to place. Nevertheless, some of these small changes are important. There are three 

basic processes that cause a change in oceanic salinity. One of these is the subtraction of 

water from the ocean by means of evaporation—conversion of liquid water to water vapor. 

In this manner, the salinity is increased, since the salts stay behind. If this is carried to the 

extreme, of course, white crystals of salt would be left behind. 

The opposite of evaporation is precipitation, such as rain, by which water is added 

to the ocean. Here the ocean is being diluted so that the salinity is decreased. This may 

occur in areas of high rainfall or in coastal regions where rivers flow into the ocean. Thus, 

salinity may be increased by the subtraction of water by evaporation or decreased by the 

addition of freshwater by precipitation or runoff. 

Normally, in tropical regions where the sun is very strong, the ocean salinity is 

somewhat higher than it is in other parts of the world where there is not as much evaporation. 

Similarly, in coastal regions where rivers dilute the sea, salinity is somewhat lower than in 

other oceanic areas. 

A third process by which salinity may be altered is associated with the formation 

and melting of sea ice. When seawater is frozen, the dissolved materials are left behind. 

In this manner, seawater directly beneath freshly formed sea ice has a higher salinity than 

it did before the ice appeared. Of course, when this ice melts, it will tend to decrease the 

salinity of the surrounding water. 

In the Weddell Sea, off Antarctica, the densest water in the oceans is formed as a 

result of this freezing process, which increases the salinity of cold water. This heavy water 

sinks and is found in the deeper portions of the oceans of the world. 
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69) What does the passage mainly discuss?.... 

a) The elements of salt    c) The bodies of water of the world 

b) The many forms of ocean life   d) The salinity of ocean water 

 

70) The word “this” in line 5 refers to ....  

a) ocean                              b) evaporation                      c) salinity                        d) crystals 

 

71) According to the passage, the ocean generally has more salt in ……………………. .  

a) coastal areas                  b) tropical areas                   c) rainy areas                  d) turbulent areas 

 

72) All of the following are processes that decrease salinity EXCEPT ………………… . 

a) evaporation                     b) precipitation                     c) runoff                        d) melting 

 

73) Which of the following statements about the salinity of a body of water can best be 

inferred from the passage? 

a) The temperature of the water is the most important factor. 

b) The speed with which water moves is directly related to the amount of salt. 

c) Ocean salinity has little effect on sea life. 

d) Various factors combine to cause variations in the salt content of water. 

 

74) The word “altered” in line 16 is closest in meaning to ……………………. . 

a) determined                    b) changed                                  c) accumulated                      d) needed 

 

75) The word “it” in line 19 refers to ……………………….. . 

a) sea ice                               b) salinity                                   c) seawater                          d) manner 

 

 

76) Why does the author mention the Weddell Sea? 

a) To show that this body of water has salinity variations 

b) To compare Antarctic waters with Arctic waters 

c) To give an example of increased salinity due to freezing 

d) To point out the location of deep waters 

 

77) Which of the following is NOT a result of the formation of ocean ice? 

a) The salt remains in the water.   c) The surrounding water sinks. 

b) Water salinity decreases.    d) The water becomes denser. 

 

78) What can be inferred about the water near the bottom of oceans? 

a) It is relatively warm.    c) Its salinity is relatively high. 

b) It does not move.     d) It evaporates quickly. 

 

79) The word “regions” in line 12 is closest in meaning to …………………….. . 

a) areas                             b) district                       c) divine                        d) spirit 
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Part E: Writing 
 

 

80) The word “which” in line 22 refers to ……………………….. . 

a) salinity                         b) frozen                         c) oceans                       d) freezing process 

 

 

 

 

 

 

 

 

 

 Choose only one of the following topics and write an essay about it. Write for at least 

100 words in no more than 20 minutes. 

 

از دو موضوع زير، فقط يكي را انتخاب كنيد و در باره آن حداقل 100 كلمه در برگه پاسخنامه نوشتاري بنويسيد. 

نمره دارد.  100نمره از  10اين بخش   

 

A) Do you agree or disagree with the following statement? People should sometimes do 

things they do not enjoy doing. Use specific reasons and examples to support your answer.  

B) Do you agree or disagree with the following statement? Business should hire employees 

for their entire lives. Use a specific reasons and examples to support your answer. 

 

 

THIS IS THE END OF THE TEST. 

Good Luck 

 


